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HARYANA SSC MOCK TEST-6

1. OFE uF Fz 9 4 COMPUTER %1 OCPMTURE
e = £ W IE gz oww ¥ ¥R om faEew

2. Treloied weEl F oAU e W SEn § R H

3 O U9 W W, T R W OF 3fkm d e § s
AR, M EF S A AR R .
=%, 7l % TG fEn 2w 9 foA 17

4. FR-m #F f

3w v g 7 99 9 fu o 6w # 8 wrEe
TR 3R
7. 3:30::B:?

1. HCOMPUTER iswritten as OCPFMTURE then
which alternative will be written as

OHKCYE?

OHKCYE o =rim? {A) HOCKEY (B] HCOKEY

[A] HOCKEY (B} HCOKEY [C} HYKOCE (D) HOYECK

(C) HYKOCE [} HOYECK 2. Which of the following words will come fourth

if arranged according to English Dictionary?

! . : = |A} RAIN (B} REEF
T W TR WE A TaE W R {C) REAT D) RAINBOW
(A} RAIN [E] REEF 3. If Ram's house is located to the south of
[C) READY O RAINBOW Krishna's house and Govinda's house is to

the East of Krishna's house, in which di-
rection is Ram's house situated with re-
spect to Govinda's house ?

(A} North-East (B} North-West
(A) T (B) - _ ~{C) South-West (D} South-East
[C) Shgqm-air=m g = = Which number should replace the question

- ‘mark in the following table #

3[4 25 e
6 |1 ]|37
5|7
&) 28
. gll;im = when sequentially

given letter series

tlof the question

o4 a8

25 ? a5 2
(A 1 B 2 (A) 1 B 2
(C) 3 o) 4 {c) 3 i

Directions: In gquestions no. 7 to 9, select
the related letter/word /number from the

given alternatives.
T. 5:30::8:7

(A) 14 B) 50
(C) 69 D) 80 {A) 14 (B} 50
8 A A7 (350 sk
3 8. Carpenter : Fumniture : ; ?
() TEEE : TiEE (B) oy : orE {A) Book : Author (B} Magazine : Editor
[C) T+ axfeEm (D) ¥+ ;e [C) Dam : Engineer(D) Cook : Soup
9. xzy:wwvu::cab:? 9. xzy:wwvu:icab:?
[A) uvw (B abc (A) uvw B} abe
(C) fed D def [C) fied (D) def

Haote

:The Imnformation Provided here is only for Reference.It may wvary the original.



https://www.rrbrecruitment.co.in/

wwWww.rrbrecruitment.co.in

Haote

e v w0 "/ 11 ¥ @ om 5w § g faww | Directions : In questions no. 10 to 11, Select
i F IEm| the odd number/letter/word pair from the
alternatives.
10, [A) 21-98 B 45-210 given
[C] 7-29 D} 27 - 126 10. (A)21-98 (Bj45- 210
1. &) EBD {B) IFH {C)7-29 (¥ 27 - 126
(C] OND D) YVX 1. (AEBD (B} IFH
s ; {C) QND (D ¥V
12. fmmf AAFw frfer wr=i = 12.  Which one of the given responses would be
A FH Twi a meaningful order of the following wonds in
1, W 2 TE ascending order ?
1 453 4, FE@T 1. Plastering 2. Painting
5 i 3. Foundation 4. Walls
2 3. Ceiling
[A4) 1,2, 3, 4,5 B3 41,25 (A}1,2,3.4.5 (Bj3,4,1,2,5
(C)3,4,5,1,2 D}5,4,3,2,1 0)3,4,51,2 (D)5,4,3,2,1
13. & m weh g 0 v w9 Fiaw 13. Find the wrong number in the given num-
2, 10, 30, 68, 120, 2232 ﬁ;‘;ﬂﬂgﬂ =y
[A) 68 (B} 120 B o o P
i) 30 0 = T 3 i”g?} (B) 120
A - (G (D 223
4. Hﬁ?wmaﬁﬁﬁ - Which answer figure will complete the
W pattern in the question figure?
AT S
- th [D]I'Lh
B e son of the
A2 A by e father of her maternal
H1 A trede. s [ o savita?
ofam F1 ¥ A 27 {A) Brother (B)
L {C) Nephew (¥ Son-in-law
E]:; o E: :*‘ilﬁ 16. By selling 36 oranges, a vendor loases the
S - selling price of 4 oranges. His loss cent
16, 36 T 99 W O - 4 0 S - inc o o -
= s ot g TuE B W 1 |
1
1 Al 12— B 11="%
(a) 12—"% m]ll—l% (A) 2 (B) g9
2 g i) 10% (D) 0%,
(C) 10% (D) 40% 17. On dividing a certain number by 342, we
|7, ©F fafed we F 342 § WM 39 W 47 9 59 get 47 as remainder. What will be the
i 2 o 4 ' p remainder, if the same number is divided
t;r;q:mmmqm*?lmmmm? by 18 3
[C' i E) s (A} 14 (Bj11
T[-Tﬁ]’ = bl D) i (C] 19 (¥ 49
18, 8-b=1,7 [a'-b"-3ah} = 18. Ha-b=1,then jo'- ¥ — 3abj = ?
[A) -3 B -1 {A) -3 B -1
<) 1 o) 3 ic] 1 o 3
|
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19

20.

21.

232

23.

24,

25.

26.

27.

S v = = FEt #7720 9 o=, 7
25% Fr vif A §1 25% e o oaa A

= AfEn?
(A} 71,200 B 71,000
[C] T 960 O] 7900

frafafem # 8 F-o wem (1« 30 1) R
i fAEITET F

(&) 10 B) 16

[C) 25 (Dj 30

el L e e R s G
15 20 9 TR e TR T A = e # ey
[A) & = B 0 =%

(C) 12 =% (D) 14 5
qmﬂwﬂﬂnﬂzmﬁmm; z?n

wﬁqapi1i -
95 =8 9§
mmmmaﬁaaﬂmﬂmnmhm#
TS T HA w7 F

[A) GO (B} 580

(C) 650 D) B45

o itk , 48 w T A, dow oo gfEm H s
20% W T 9 v § e g 9 wen 9
TEM A wE R W R0 W, o wre | e
o T2 &, T vk | Fo G99y 5 Y 67

(A) 2000 B} 2100

(C) 2200 D) 1800

w9 =i F w8 W g A w1 faE 12, 18,21
7 28 | fawfa o W w6E T T

(&) 11019 B 10081

C) 10059 D} 10280

19,

21.

26.

If a man sells his chair for ¥ 720, he would
lose 23%. To gain 25% he should sell it for
{A) T 1,200 (B] T 1,000

{C] T960 (D T 900

Which one of the following will divide [3%+
38+ 377+3% Completely?

(A} 11 (B) 16

{C125 {D¥ 30

A certain sum of money becomes three
times of itself in 20 years at simple interest.
In how many years does it become double
of itself at the same rate ?

(A} 8 years (B] 10 years

{C] 12 years (¥ 14 years
A mixture contains spirit and water in the
ratio 3 : 2. If the gquantity of sprit is 3 litres

-more than gquantity of water, then the

guaantity of spirit in the mixture is-
A} 8 litres (B) © litres
(€] 10 litres (D) 12 Titres

5 and th.c average of
inifdEwerkers-is-T-85. Find the total
number of workers.
[A) BEO (B) 580

[C) 50 (D 645

In an examination, 48% of the students
failed in Hindi, 32% failed in history and
20% failed in both. If the number of
students passing in the exama is 880,
how many students appeared in the
examination, if only there two subjects
were in the exame?

(A] 2000 (B 2100

(C) 2200 (v 1800

Find the least five digit number which on
divided by 12, 18, 21 and 28 leaves the same
remainder.
(A} 11019

(C] 10039

{B] 10081
{0} 10289
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28. A 10 = 10w F 00 svgei mw 10 B9 Ao | 28, IF 10 men using 10 broomsticks can clean
Fr oFd A 8 T & F & wns wn 10 Aloor in 10 days, then how many days
23 0 wrF F07 it will take for 8 men to clean 8 floor
uging 8 broom sticks?
1
12— 13 8= I
WA 2 =) {A) 125 days |B] 8 days
1
103 &— fam 1
) o 3 [C) 10 days (D BE days
9. =H _?@_E'ﬂﬁﬂ]ﬁﬁiﬁﬁ-‘ﬂﬁﬁﬁlm 2. The price of & certain item is increased by
LS Wﬁiﬁ‘l Wﬁhtﬂjfﬁﬁ'ﬂ.?ﬁﬂ 15%.1f consumer wants to keep his
ayA w fFay wlewd 59 Foh T 7 expenditure of the item as before, what
20 1 percent must he reduce his consumption
(A) 1055 % (B) 13 2% of that item?
20 1
() 16%% D) ﬁﬁg% N | .Ml Iﬂﬁ% (B} ISE%
30, wEERAT L 50D = Ié]ﬂﬁg% (D) 662 %
& e A f1A9E : 3 3
W ¥ foEE FY A bag contains T 1008 in the form of cne-
(A} 576 rupee, 50 paise and 25 paise coins in the
(C) 1600 tiuctt'S. ; g__- 25, then the number of 50-
31. FRO W 1857 ¥
e Tl o
(A) =wEET s owing was not the
(C) frriee the Revolt of 1857
32. E‘rfr?l_ﬁ'r Eua ar Singh
{A) T Al
(€] =F g d in Haryana 7
33, 24 wEpvEEY
ET i‘_T‘I £l pop from Delhi
[A) TETF
(C) femm ; :g; i e
e S— e i T isar urgaon
o ,“t_q bl Bad 3. The three powers that were crushed by
36 T sl 3 1 T e e R 7 British in the battle [Battle for freedom) at
(A) T, W ) L Nasibpur Village near Namaul were -
’E’ﬁ- T e (A} Rewari, Jhajjar, Joedhpur
E':E:H = " RO (B} Gurgaon, Rewari, Jodhpur
(C) ==, s 2 o {C) Jind, Jagadharl, Pechowa
(DY WA, FeE #E A {D} Panipat, Jhajjar, Tawdu
35, wye e ow § 99w & g T A e | 29 Which ruler of Ballabhgarh led the
2 s i X revolutionaries in Delhi in the first battle
| T S A o P of indiperidence
(A) T FEEE [B] =N AwdET {4} Raja Karan Singh
[C) =1 gra%H (D] =1 g (B} Raja Nahar Singh
36, FEfARed # § win RO fAmE 4 1857 Fr = :g%?.laiﬂt:ﬁh&ﬂ
e e aja apal
A A AR o . 2 36. Which of the onc following cstate helped
[A) T 8] W&y Britishers in the public revolt of 1857 ?
C] s = o == (A} Bahadur garh (B] Tawdu
{C] Jhajar (Y Jind
|
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37.

38

39,

40

41.

432

43.

45.

1886 5. FOm F 3 Fowa sfrEwm § afEmm
= wfafateE R a7

(&) 99 W (B) heh g

(C) === T o] &=

Heeiie ® A0 TS A 9enn, & 1857 &

=i wmE | e g | ¢
{A) EHE B f¥=9 f5g
(C) Wiy T D) ¥EafaE

g =7 Tt T T 579 Wea= HFHE wran 7
fFm ?

{A) o B TEAE

() femm D) wEE

TOA | UeeE F1 fFy 7= F afds . 7

ia) PER (B] =M

%=
a b
(A3 2 4
)3 4 12 Mz 3 4 1
AT TIF T FGHA fEg 94w fEw v my
(A 1964-65 [B] 1965-66
(C) 1966-67 D] 1955-56

WA fFge F (340 a@vEEaa FiogiH #
R T AT AN E e e R A 7
A) 12 A% (B] wm™ =&t &
C) 15 7A@ o 4%

4 wm T IR G-, TR o
L T, B YR T oW e ¥ e e
= 7w g T

(A) wFz Fro S dE

(B FHF Tm TweE e

iC) Ff 7= wEF=F Tren T

D) == 9% d=.

37

43.

44,

45.

In 2™ gession of the congress in 1886 at
Calcutta who represented Haryana ?

(A} Pandit Deen Dayal Sharma

{B} Lala Murlidhar

{C] Bal Mukund gupta

(D all of these

Name the last ruler of Ballabhagarh who
became Martyr in the battle of 1857,

(A} Nahar Singh (B] Vijay Singh

{C] Pratap Singh {0 Mehar Singh

The place at where Shahzada Muhammad
Azam led the revolution was-

{A) Sirsa (B] Rohtak

{C] Hisar (DY Sonipat

Huedon annexed Rohtak under what state?
|A} Bhiwani (B] Sonipat

{C] Patiala (Y Jind

__ Where is the National Institute of Mustard

Research ?
(AjAlwar {B] Nagor
{C} Bharatpur (D) Bahrod

Match the list I with list I and seclect the
correct answer by using the codes given

water supply
3. Water Shed
Management
4. Village self-
employment

—

In which year High Yield Variety
Programme was started ?
1A} 1964-6B5 (B] 1965-66

{C] 1966-67 {Dj 1955-56

To fulfil the financial requirement of the

Indian farmers the short term loans are

provided to them for -

(A} 12 months (B] Harvest period suit

{C] 15 months D) 4 months

For the mass protection of the farmers three

major fertilizers producing institutions -

IFFCO, KRIBHCO and IPL have started the

plan -

(A} Sankat Heran Vima yojna

(B} Bandhak Rin Garanti Yojna

{C] Krishi Mazdoor SBamajik Suraksha
Yojana

(I Khadhyan Bank Yojana.
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46,

47.

48,

40.

5l

52,

53

4.

55.

36,

5

58,

39.

T e e sgee 9 A f

(A) =T H B e |

C] s W D) =i A

fava # Fam F wEGF STwE O w6
A == B ==

(C) O] Jwmn

e # 7 F fEE alted e o o= # 7
{A) 18-208 B 20-22%

C) 22-24% D] 24-26%

T wEn A ool A o fem Frama v ?
iA) T [B] =i

iCl ja) = (b) 3 D) = 9 T
TRErn | 9 w0 @ T T A v -
B] &

D) Ty -

[A) 10=Hr 3 i
D) 107+

[C) 10%%

werE #, B W W wew o R
(&) wifzEw (B) A
(C] =m (D} =rfeam

FA G FET I S v F oy 1420 7 59
o 67

(A) vifeTe BFER (B) FEE T F

[C] ¥ =g D) =T

=@ Ty v Farm T FEE IR = A
1]

(A) F=hfa (B) 4=7 ==

(C) wrefems whwe (D) =i o

AT AEE 59 (IST) 50 = seife 27

[4) 90° E T (B) 82" E 3

(C] 75° E /g (D) 0= T

47.

57.

- [C!]’Pampat

i) Aum.nyctl

The National Institute of Weeds acience is
at -

{A} Jabalpur (B] Bhopal

{C] Lucknow (D Jhanshi

The largest area under Jute cultivation is
in

{A} China (B] Russia

{C] India [DjUsA

The percentage of oil available in Soyabean
is -

{A) 18-20% (B) 20-21%

[C) 22-24% (D 24-26%

In which season mustard is cultivated in
Up?

{A) Rabi (B] Kharif

{C] Both [A) & (B) (D) None of these

The first city setup in Haryana on modern

_system is—

M.j EKarnal (B] Panchkula

(0¥ Kurushetra
Indian ruler, contemporary of Queecen
Elizabeth-I of England, was

[B] Shahjahan

ﬂ]l Bnh,a.dur Shah

hing gas®

[B] 101to 115

Y 36 1o 43

One nanometer i3 equal to

(A} 10"m {B) 10"°m

{C] 10%m Dy 10*m

In fireworks, the green flame is produced
because of

{A) sodium {B] barium

{C} mercury (D] potassium

The Venetian traveler who travelled with his
wife and reached Vij around 1420 was
{A) Athanasius Nikitin (B] Nicole de Conti
{C] Tbn Batuta (¥ Ferishta
Permanent hardness of water can be
removed by adding

|A) chlorine

(B} washing soda

{C] potassium permanganate

(D] bleaching powder

The Indian Standard Time ({IST) is based on
{A) 90" E meridian (B} 823" E meridian
{C] 75" E meridian {D} 0 meridian
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60, LPGH el #= 3 mina 7 &0. LPG consists of mainky
(A) T8, 3859 T T 1A} mr-{:‘ﬂ:anr];;th.anc a:I:l.d hexane
) v, 130 gl
Icl I"T!Fr A T ?r'h (D} methane, butane and propane
D] ¥, =g T w5 61. Air is a/an
61, il'ﬂ],i' - |A} compound [B] element
i W’Fﬁ’rﬂ 9.2 G2 1RI‘D|:|‘IJ.I:‘HDTLC] :I“Frulﬁth.‘u{ﬂﬂuﬂmm TIE FC
() ; -. 3 () oy . - which is prnp:::m-:d to be ham‘tt:au'f IndiLE,:e::
62. el Fr e e v W § e used in which of the following domestic
& == 3 £, fes 4 | R e TE F T products?
% v fa (A} Television {B] Refrigerator
A TR ] {€] Tube light D) Cooking gas
A = = e 63d. Balloons are filled with
(€ =. @) (A} mitrogen gas {B] helium gas
63. T A W A P {C) axygen gas (D) argon gas
[A) TrE=R ™ (B fe=iam &4. The industrial organization of Atomic
[C) =iEd T . : - —Minerals Division, Heavy Water Board
64, =TT e T {HWB] is located at
{A) Mumbai (B] Kolkata
(HWB) % fes # {C} Hyderabad (D) Patna
(A} IIEI; ﬂﬂ The famous bronze image of ‘Nataraja’ is a
C) #=309r
63, ‘FEma’ #owEg | Gandhara art
[A) FiF T T auryan art
W PoRElS: ;
|"_:-} b 3 ammonium chloride
66. Hh F A ¥ and magnesium
(A) e =)
B} FfewTm nd chlorine
i) Fiewgg TE c and sodium
67 ﬁ[njq r 2 ctal was not
w} , Zinc and Gold
(&) ﬁ‘& Ci| Copper and Gold
(C) i e o
68, a'ﬂ'nﬁuq o T A 75 i Ml to maintain peace and security in the
(4) fo¥a A ui= T g < v (B} to work together to remove poverty,
[B) it = @t = fOEET 3 Fe A discase and illitcracy and encourage
R & M T 6 BE e reapect for cach other’s rights of basic
fa¥d & 2o % 49 P WA TR T friiodom.
llg} mx [[ ] ;uaitji?:;np friendly relations among
69, ?ﬁjtﬁ‘!‘fﬁ‘rﬂﬁ‘l‘ﬁﬂ\‘ﬂﬁﬁﬂﬂﬂﬂiﬂ?ui? (D} All of the above
(4) (B) FTR 60. Which metal pollute the air of a big city?
(C) o F=fTm {A} Copper (B Chromium
70. Frafated 4 4 ¥R w v w9, T T v W {C} Lead (D) Cadmium
= &7 T0. Which one among the following groups is
£ 3 referred to as types of precipitation?
(A) FP0, siw s {A) fog, dew and rain
[B) I, ¥ =R {B} air, water and soil
[C) T@w, =7 = T {C) fog, water and rain
(D) ¥ & Frf wi {D} None of these
|
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71. 39 % F9 ™ TREET T uF wRonteE 990 87 | 71, Which of the following is not an isotope of

(&) Ffem (B) 3 hydrogen?
[C) wif=T] (D) =5 (A} Tritium {B] Deuterium
72 fAsm B (€} Protium D) Deutrium

T2. Amalgams are

(&) 7= wire e ) (A} highly coloured alloys
[E]ﬁﬂm‘ﬂﬁ'ﬁﬁ“ﬂﬁﬂﬂmﬂ {B} alloys which contain mercury as one of
[C] wm i famd =W F fFen wEa @idw the contenta
wiEny & (C) alloys which have great resistance to

D) e famd Frdw A abrasion

T3 ﬁﬁﬂﬂiﬂ?mﬁﬂﬁﬂ%i? | alloys which contain carbon
(A} T (B) Fofmy 73. Which of the following is the lightest metal?
5 o) 44 (© tesa D) Siker

ilver
Lits :::: N N R 1 aflﬂﬂ 74— Which of the following metals remain in

I.imﬁ:i for under normal conditions?

(A) e fA) Radium {B) Zinc
(C) e (C] Uranium (D) Mercury
75, 4H T TH E Potassium Permanganate is used for
TFTF plrifying drinking water, because
[A) ¥ TH = sterilising i
[B) TF =7 i = 1 purities of water
(] e e
O] T8 v A
76. AW A
[A) =forE
(€] T neasuring the
77. = Fi dEm
(A) J il : . A !
iC) 78 (D) = {C] Hum [y Cycles
R e ] . T8, R::&l:lmg of a barometer going down is an
indication of
) S et it (A} =snow (B} storm
(C) e A D} =i 1 {C) intense heat (D) rainfall
79. FEm WV F W FA WA FH IR Y | 70, The terra-cotta plough of the Harappan
(&) HrETaRE (B) F=H civilization was found at
() Tt (D) =g {4) Mohenjo-dara (B) Banawali
B0. F Fr@ W A T owdE T oawaAm (SR (C] Kalibangan (D} Lothal
e | w7 80. Gandhiji'e call for breaking Salt Laws was
(A} STETER =R i.:r;uptincm:mm_: .
3 on-Coo tion Movement
(BN :IEI-: Civil Dimﬁi:nn: Movement
(€ ﬁﬂﬁ‘ﬁ‘ﬂ Bﬂﬂﬂi {C] Khliafat Movement
() Ml SR {D) Quit India Movement
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81. ‘Master may be referred DM aaaﬁt 91. [Ilike to read ecience fiction. Transform into
(A) 7= o o s 3 o et sentonnd.
. i & (A} I am not like to read science fiction.
B x W e b e B} 1 shall never like to read acience
= fiction.
(C) 78 (999 = T =f9Fe 1 == aEvdT © {C] I do not like to read science fiction.
D) 7= {9 F o «foFe F1 =30 T 8 (D} I can't like to read science fiction.
82 ‘ma’ w R e W d 92. Many tourists hmrc ual?cd ?.hat castle. Here,
i the correct Passive voice is
A W B] T |A) The castle have been visited by many
(C) =l D] ™R tourists.
83 R ¥ AT I AT EW . o T E (B That castle haa been visited by many
(A) FREE B =T tourists.
(C) "= IEF D] T=ErEE {C] That castle was visited by many tourists.
B4, AREEET fFE-TE == 1 (D) That castle is visite by many tourists.
() T B W = Directions (. Nos. 93 to 95) Find out the part
(C) fmsn o | -which. contains error. If sentence is error free,
SthEn your answer is (D).
&s5. T E = FaF =
o 93, We celebrate festivals (A)) lest (B]) our
" "I_ heritage should forget. (C)/ No error. (D)
iC) =i He dare not {4}/ to annoy me [B}/ ever in
86, i | T A this
son [A)f who
ssively. [C)f No
a7.
88,
the correct
hing that was taught
g9. B
(A) Y 3 F AR B A R {A) understand (B] understands
- e P {C) understood (D) was understanding
B w3 T A d e 90, This is the best book that [
(C) =-wfed F g B ==, {A} have ever read  (B) ever had read
(D) ==l | # B aH-TE = (C] ever did read (D) ever was reading
' AT T 100, Ravi said to me, “Do you have an LED TV
it ¥ 1% o it | ?".8Belect the one which best expresses
(&) F97 B =rFe Indirec/direct speech.
(C] =79 O =" |A} Ravi asked me if I have an LED TV.
|B) Ravi asked me if have you an LED TV.
{C] Ravi told me if I have an LED TV.
(DY Ravi asked me if | had an LED TV.
|
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